EARAROBEEIERT — 2 N— IBISH —F

2013F3R11H (A) 12E#E1H

s >%—#% c2=m

‘ [R1%] & ‘ [REBB] — | & (£) 16000 B

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s . > 7| EEXH 1:42.0 2-2-1-1 [ 39.6 | — 3 496 | MEBBREA (fafE)
1 9| ¥V ¥—E—=ZX - 56.0 (=) (+3) | FEE4RILE "
R:Z2g—-)>r70-X B4 E—=7 P pa ik e
5 4 5 | AL 1:42.3 3-3-3-2 [39.7| — 1 509 | HAIS (fafE)
2|7|12|¥=217 56.0 (4 1/2) o) | ERTIE
R:HI5TLIF N BFAIAXT Y HE Rk
AN N Fi5EE : —14-10- — AEBEE (115E)
alsl7 |51 %% i 5 iy 1.&3).0 13-14-10-7 | 38.9 5 (4_822) AN
L:2v— bR—A B:ALNO-L 752 K
“ . [I=2EEPN 143. ~10-8- . - EBERE (RAHE)
A - MBS RSP R IR i L R N s -
R:ARTA I BiNZ—H—-F> kel
- 5 FHfE— 144, -10-13- . - EHF (afE)
5 14| F737807F 2 o4 e 1(414)1 11-10-13-13| 39.6 9 (ﬁ@) EraL
RYIFTLIFL b BHIINY Y DE il:zkYe)
5 C o4 | BHR 1:44.4 8-8-7-8 |40.5| — 7 402 | AKAZ (1)
RN 3| tUATELYY 54.0 ( 1/2) (-10) | AHER
L:xLTHANAN B NIHATATS RiEYS
— - . HTHRE : —4-4- - A= (1)
. o Fr—T2555- o4 R 1(7414:;1 4-4-4-4 | 41.6 10 (4:354) e
ZRXHT R BAZXHTTINA 55 Kikis
= A 3 < s 7 | FHEFEA 1:44.7 12-10-14-14| 40.1 | — 6 479 | BEHESE (AH)
s 2| 7TINRT V=X 56.0 A 1/2) (+5) | BEH R
R:ApaAM—Y—X B:F7UINZx— TE FE
. o6 | L)k 1:44.7 9-9-11-10 | 40.5 | — 12 | 435 | WLhEfE (fafE)
9 g| b—t>F+vON 56.0 (7E) 7y | BlIES )
R:xLTHXNAN B:FH9T5F BREEHM IXT177—L4
A B \ B4 | EHER 1:45.0 10-10-12-10{ 40.6 | — 8 438 | FHEE (iafh)
10y 6| 7Y —~70=/~ 5.0 (1 172) o | BAR
LA —=JIhTx B:ISTVTU—-> FHE EF
w o > 4t 9 | AEE 1:45.0 6-6-6-8 |41.3| — 13 | 503 |JlI#t<pS (dfn)
1100 5| Py RON-2 56.0 (7€) (1) |EAAE
L:TINVHhrYT B IAXE-F R S
5 o4 | SEEK 1:45.1 1-1-1-3 [ 42.7| — 2 500 |/IBE— (#fE)
12011 Y1751 e—0— 56.0 (2 E) (-3) INSERER
RSN t— BTV ERTY— PS5
t 4 | EEFEF 1:45.6 7-7-9-12 | 41.6| — 14 | 446 | FIWES (E)
138|711 277z —Fzx 54.0 2 1/2) o |EEE
L:T7NHEy b BTy bOATIR W FSILR &y K
Sl S, RN M4 | EmHS 1:45.7 4-5-5-5 |42.6| — 4 492 | FEMSEIE (fRfE)
14| 8 13| N> & A 2NN 56.0 (1/2) (6) | EBIIER
L:xF21=Gr— B:M1-X4)—-T)-X HIiR4%
® 1—F—@EBIERL
13—7+— 1,9,12,(4,13),5,11,3,8,6,14,2,7,10
230—7F— |[1,9,12,4,13,5,11,3,8,(2,6,10,14) ,7
Ja=5= (1,9),12,4,13,5,3,10,11,7,8,6,14,2
40—F— 9,12,1,4,13,10,7,(3,5), (6,8) ,11,14,2
[ N5
B 9 640M 714K 9-12 290M e E 6-7 460 JEE 7-9-12 1,260M
B B 9 140M 7-9 710M e B 6-7 1,780 3EE 9-12-7 7,680
12 120M4 7-12 450M B & 9-12 480M
7 1609 B H 9-12 1,360M

ABICOVWTRDTEEERROODE. TR LIV,




